TR 7 A A HIF

=4 K% ouT IN Total Hdecp  Net H. 274F07 A 128

@i AE = | 39] 39] 78] 128] 652 YET52

EEH RE | 40| 43]  83] 125 705 ¥=7IIA

s Wk & | 38] 23] 81| 104] 706] V=TSR

4 KA A | 38] 40 78] 69 711] Y=TIFA

5 XBR | 50] 47] _97] 225] 745 YETII2

6 & EE | 47] 28] 95] 200 750] Y=TIIR

7 K F—R | 51] 28] 99 194] 796] Y=TITR

8 RA B | 50 47] 97| 148] 822 V=TI

9 ik R | 46 | 48] 94 112] 828 YETIIR

0 kil =8 | 51] 52] 103] 20.1] 829 Y=TI5R
& out IN

pnoe [1 [ 2 [ 3] 4]5[6[7]8]09 10 [ 11 [ 12 [ 18 [ 14 [ 15[ 16| 17 ] 18 Total

PAR 5|/ 3] 4|44 4|5[3]4[36|4[4]4]|]3[4]5]|4]3]5]3]| 72
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